Expand and Simplify

) 3(2x-5) = bx —1S
D) —4(p-g)= ~l2p 4

9 S'(z,o*zﬁ,}—z(pﬂp@)
= 10p + 154, -—-le_—gﬁ/
= 8?”"’7@

4) D(<_73c —C) &+ 2 ()C 4—4)
- 7x2/5‘—>4 + 2%+ X

- c(x'Z- + S

Exercise C

Expand and sinrls(.]
) 3(x+2) +5(x+3)
2) 4(?*21,)*3(!’ +4)
1) 3(s +rq) ¥2(2x-y)
4) 2(h+k)-3(h-k)
<) S(x+4)-1<x+4)
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Erercite C

3(x+2)+ T(x+3) 3) 3(7“23}4—7.(2:‘-3) 5) S(x+¢) -2(x+a)

Z3x+b +Sx 41§ | = 31+ég+41—23 = Sx430-2x -¢
= 3x t+ 22

=¥ + 21 :’7‘1.4'4-\3

2) 2(hek) =3(h-k)

4-(p+21) ¥ 3(1“"1,)
=2h+ 2k —3h + 2k

-'-'49-9-3?/4’3(34-3:!’

=7P+H$ S -h +¢k

Multiplying Brackets

’> (’C *"l)(x 4—3)

'
X 4+ +3% +21

-
-

2) (21—’3>/§'x+1>

IO)LQ — 1§ +2x =7
— 13x — X

~% 4 10 + 2l

-

= IOa:z

3) (af*'S)(C*M)

ce Abe wadk +LA

-
-

Exercise

Yy (9+a)(947)



~ ‘3?_“"4“34—]34-(2_ = u&l"_?‘lf‘_l?’

2) <2x—(—3><3x4—1)
= éxlfl-‘bc +dx 6 = é&z*fg'x + L

2> (hfe{')(/fr»-z)

hk «+ Sk =21 - 10

-
-

Trinomials

D (x ) xe)(x +3)
- [x’+x A—Z‘x—l-'L](‘x.;—g)
= ):x'l +3x 2 (5 43)

3 2
X A4 3Ix + 2>
F£3x" +aAw +E

—

= xl ,)—éxl F+ e 4+ (L

Z> (29( ~3>(:(+z)<x-—?_>
- [295‘ - 3x *Zx~3]<>q_13

< ):foL—-X-—’:Sj(‘x——z)

>
2>a:1 — 2 — 3

—
-



— 4ot +2x + G

- 23L3~§>‘1"x + 6

E xercite

,> (Dc rl-ZXx,c—‘:sXac*‘(-)
- L)C'Z 2 .—4-314-6]()( *«-—)

= st *S'X*GICDC“‘"‘F)

3
>4 4+ g'aL-Ld—Q‘)l.
+ gt =20 +24

=
-~

- x3+sz¢26¢(+24~

?_> (2:( 4—3)(x+4-><2""">
< [Ex14-3>‘4 Z:c«Hl]( 2 ¢ e(-()
= Z’Z,x\‘ + /()(&Ql(?)&q‘l)

4)(3,[- 21)(2 4+ 24X
L o2xr A4 e (2

—
—

D (x-0(zx~2d=-3)
_ Ec’--m *2«-Lj(3<—3)

= [3(2 -+‘>t-23('x _2>



= X Aot - 2
~ 3¢t — 3 +6

x3 '—Z'X:z — Sx +&
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224 x1.24 = #24.76
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